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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
1x10=10

RorIpIE REFRS epRee Ses i ¢
(a) Marketing is important because it
@I @FgAd =8 TR B
(i) improves standard of living
GRALRET ARG TAO
(ii) provides employment opportunities

e ol v
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‘{iii) utilise natural resources
AProd T 29 B
(iv) All of the above
8] SBIRER

(Choose the correct answer)

(&% CesCol IR Tfersan)

(b) The final stage in the consumer buying
decision model is ;

Torere™ e Pare wifEs S = tzre

(i) pre-purchase

T oI

(ii) post-purchase
TFq =20

(iii) purchase
&y

(iv) None of the above

@9[Fq b8 W=F
(Choose the correct answer)

(% GeFCh! AR Clersd)

(c) Marketing as a process aims at which

one of the following ?

T G5 2iferat 5Tl (PIRCo! o7 CHEIoH
FE?

(i) Satisfaction of customer needs
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(i) Selling products
S et 4
(itj) Production
TeAM § 5
(iv) Profit-making R B/
(Choose the correct answer)

(w7 GeFCo! IR TS

(d) New product development starts with
which one of the following steps ?
RGN e A TR & ISEaRE
CIEREE

(i) Test marketing
@R AT

(i) Concept testing
gialt 2

(itj) Idea screening
giell TR

(iv) ldea generation

qigell A& q .
(Choose the correct option)

(o7 GeFCo! IR TleTST)

(e) ' Feedback collection is a part of

marketing communication process.
(Write True or False)

e AR A @ S (R
(% (1 o @)

STone TRAR |
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Which one of the following is not an
essential quality of a good brand name ?

G Ol ARSI/ AN RS @t e
SRR F27?
() Memorable
TR
(i) Hard to pronounce
THISe] 1 B
(iii) Concise
ENE!
(iv) Distinctive and enduring
g Ol
(Choose the correct option)
(&% Ceseo! R Clered)

Which of the following are included as
components of physical distribution ?

FIfFe o™ S FefRe 0!

GBYE 23 ? |

(i)  Order processing, Sales prqmotlon,
Advertising :
TR AT, Repl Iaeed, [elsia

(ij) Product support services,

. Transport, branding

g A @, PR, ARpTEIs w1

(i) Pricing, Positioning, Warehousing

v fFolerael, SRR, Adialieee
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(h)

()

0)

(iv) Inventory control, Transportation,
Order processing
GO TV e, #ifR7ze, T
ARl
(Choose the correct answer)
(¥% Teseo) AR Glrsar)
Social marketing aims to change
people’s behaviour.
(Write True or False)
AN TSI 57 (20 N2T S5 HeT
41 | (o7 @ o©% f&73))

Pricing is a non-managerial function.
(Write True or False)

7S eSS RBIeETe I |

(&7 @ 5% fo2))

What is consumerism ?

TSR W 52

Answer the following questions very briefly :

2x5=10

TS GRS eHPTEE SIS by Oeq il

()
()

(i)

What is rural marketing ?

&N IerRHI e 59

Mention the 4Ps of marketing mix.

TG FETe ST 4Ps T 941 |

State what speciality goods are citing
examples.
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R A=l See Ty SN 6 Sriseis e
TE 1

(iv) Point out two functions of middlemen.
SGROIPINE 75 G SiefERiE @)

(v) Distinguish between advertising and
- public relations.
 Rwted Ol SR e A9 AT
Rl

3. Answer any four of the following questions :
, 5x4=20
weTs Tl fRepIe) Gifsbr es Ted ol 8
(a) State the importance of product
positioning.
7<) SREATIE ¢ e 91|
(b) What are the components of marketing
environment ?

aeeEdl AR SARIPRR & 2
(c) State the stages of consumer adoption
process.

Soreie oz afee AREeRE SrEd w4 |

(d) Explain sales promotion methods.

Rt Yfereaeid AROPR IR0

(e) What are the factors affecting price of

a product ?
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4.

gﬁwmﬁ% geriffe T SAMPRR
5 ;

Discuss the importance of green
m/arketing at present.

TETH TR© (o T 8F9 [T
bl <51 |

Answer any four of the following questions :

10x4=40

Oe SRS [ACeicl ofeore Ted R 8

(@)

(c)

State the nature of marketing. Elucidate
the philosophy pertaining to marketing
CONCCPHENNE ‘ 4+6=10
IGIFIN 2o BrE Tl | TEIFId AT
T TGTS A TR 9
What is the importance of consumer
behaviour ? Discuss the factors
influencing consumer buying
behaviour. St 7=10
Bolrole! Tb 6% (7 TATSIEN AbTe
ool T4 SHAMERR b= 3|
What is the role of labelling ? Explain
the stages of product life cycle.
4+6=10
55 2Ig ARG P S 22 TS QR
pd Ko TPRE I S

(d) Distinguish between product
differentiation and market
segmentation. Explain the bases of
market segmentation. 4+6=10
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T 2N I I AfeTTew e

LR 11| IoF Afewaaey fofeme

RURNESEIN

(e) What are the types of distribution
channels ? Discuss the factors
determining choice of channels of
_,dist_'ribution. 5+5=10

- ond 2diETR eeieeTE [ /e Resd adiee
A RS SAMITTE S5 <54 |
\(f) ~ What is promotion mix? Discuss the

factors affecting promotion mix
decisions. 2+8=10

o6 Rreel G 52 2 il Fri @sivw
S (AR SRR KA Sien=l 541 |
(g9 Explain various pricing policies
available to a firm in taking its pricing -
decision.
5! 2lfewie v [Maiee P @E e St
ST eRpleg va FaiEel TR =0t = |
(h) What is product line ? Discuss the

concept of product mix and its

dimensions citing suitable examples.
2+8=10

@aﬂﬂmaﬁﬂw%?mﬁmmm
| @PTR TR CMIRINR (IS SIICEInA] <5 |
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The figures in the margin indicate -
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the right answer : 1x10=10
wm Bea0H! AR Tferet ¢
() Market capitalisation is a measure of—
TG eI Fesre Re! #AfRaiel w2
(a) wealth created by equity -
2330w age = T
(b) share price indicator of the equity
ASVINR SHAET e IH
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(¢) market price indicator of the " | . (c) NPV =0

securities
sifoefor TE T P (d) None of the above
; _ ST Ole 73y
(d) cost of equity as compared to _i
market price of the equity | (iv) Current assets are twice the current
23303 A LTS OIS 50T T liabilities. If working capital is
T6T _ : : Rs. 20,000, current assets would be
_ | TS A beTe (v pRed 7w A e
(i) Cost of preference share is £ AN T 20,000 T T, (O0F bhTe Heoifew
SElfEe SiEE < . b VAl 29

(a) treated for tax (@ Rs. 10,000 (50,000 G=5)
(b) Rs. 40,000 (80,000 Gl)

S OGS {
(b) not treated for tax 3 - (c) Rs. 80,000 (b'O,ooo 335]')
. ﬁs\é\ﬁ { = (d) Rs. 20,000 (0,000 5)
i i
(c) only occasionally treated for tax = Thh (v) Profit maximisation ignores
AR S e 2 IS R Y Wi e
(d) None of the above |‘ (@) wealth
G779 b1 T2 j i
‘ _ ! (b) time value of money
(i) Internal rate of return 1s the discount '1 PRl
|

Ly i
rate of whic (c) net value

S E kL
) ' ' GEAO)
(a) NPV > 0 ’ =
o | (d) None of the abo_ve
[TE | ' 89T OIS Y
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(v)

(vit)

The net working capital is the excess
of current assets over current liabilities.

WW%@WWW@W
TS i A |

(@) True (3i51)
(b) False (fm)

In respect of raising finance from new
issue market, companies are prohibited
from issuing shares at a discount
except in the case of issue of sweat
equity shares.

T A PR I, O 332 o R,

CIeS |
(@) True (1)
(b) False (Fm)

(vii)

When profitability index exceeds one,
the proposal is rejected.

@foFl profitability index 9F 899 2F
cofohl 25E 2z P T |

(@) True (31

(b) False (Fm)
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| {ix) When the company pays dividend in

the form of bond, it is called property
dividend.

I QAR TS Feie sy e, cofew
wiF TG FTefRe @I |

(@) True (370

(b) False (Fi=)

The profitability index or benefit cost
ratio is the relation between the present
value of future net cash flow and the
initial cash outlay.

CRACS #/7 =151l 2P oI &S T S ARST
o REGENE T>FE e & ews 3T
(Pr=iz,) < oo I Seie (Rivss) |

(@ True (3M51)

(b) False (Fm)

Answer the following questions in about

50 words each :

2x5=10

ﬁw@mﬂwmﬁ soﬁmﬂwﬁ—

e 8

(a) State the objectives of wealth
maximisation.
WWFW%W@WWt

S - Contd.
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(b) State the meaning of EPS.
EPS-¥ 9 Gz 41 |

(c) State the- meaning of Internal Rate of

Return. ;
ST T 2R o /o

(d) What is stock dividend ?
B3 aToicH 5o

(e) What is cash management ?

5 <|fIprE 2

Answer the following questions within
150-200 words each : (any Jour) 5x4=20

[FTRIG eMPTEs efotm Be9 150-2005
fewse o=t ¢ (@i sifdsy)

(@) Define opportunity cost of capital. How
is' it computed ?
Opportunity cost of capital 3 Hees| fagy |
2T (FEE WD 0 22

(b) Distinguish between financial leverage
and operating leverage.
R FreiEs 9% SHiEh: freiEes dremmr
o721l |

(c) State the limitations of financial
management.

e RGN AR G 4 |
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(d) Discuss the use of internal rate of
return (IRR).

SIS S Q< TR SIS

(e) State the circumstances which

warrants issue of bonus shares.

f & - @A Siiog /& w1 o
2% O 41

(f/ Examine the importance of accounts
receivables management.

2ol =o19l SARbIEIE S=g AGIersa 4 |

Answer any three of the following questions
in about 600 words each : 10x3=30

54 [Repizl ol R ATeIRE 2 6005! S
9 foogw &2 2 :

(@) Discuss the scope and objectives of
financial management.

(ST ARG R @i SomER i)
Sl
(b) Discuss modern methods of capital
budgeting.
T ACEOFEE YT ARSEIT SIS
4| :
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(c)

(d)

(e)

Define working capital. What
F:onsiderations are taken into account
in e?stimating the amount of working
capital requirements in a newly started
company ? 2+8=10
PRI JeaT IRG! T | To I TGre
T EE et SEts B B R
SRR 27 ? '

Elaborate the determinants of capital
structure of a corporate entity and the
benefits of a balanced capital structure.

6+4=10
<TI0 AT B I SR FEReS)
WW%QW@WW@
sliofRT CoFiRel &4t

Elaborate Modigliani and Miller
hypothesis of 'dividend decisions.
Examine its validity.
eyl [e<eq PTaies (Fae Modigliani =%
Miller S &i5eiis fRC SICeAb=1 <541 | 239 A%
arzeicalel [ead 4 |

ABC Ltd. is considering an investment
proposal to install a new industrial
mixer at a cost of Rs. 10,00,000. The
facility has a life expectancy of 5 years
and has no salvage value.
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e

The - estimated revenue before
depreciation and taxes from the
investment are as follows : '

Expected Revenue
(before depreciation and Tax)
(Rs.)

2,00,000
2,20,000
2,50,000
2,60,000
3,00,000

Year

Ul B~ W D =

If tax rate is 30% p.a. and the company
uses straight line method for.

depreciation—
(i) determine the cash flows after
taxes but before depreciation ;

(ii) calculate the Net Present Value
(NPV) of the investment at 10%
discount rate;

(i) comment whether to proposal

should be acceptéd or not.

[The present value of Re. 1 at 10%
discount rate (PVIF) for S years are
respectively 0909, 0-826, 0751, 0:683
and 0:621] 4+5+1=10
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- ABC RfIC508 10,00,000 5 = 5] o (i) e R mﬁ.—

Rl ) SR |
Rewm =i @i @2 e 5 = <6 - [10 =i G RIS 5 =TT AR 1 BRI O
TERY GBI SR, S 33019 mwﬂ@r & @6 0:909, 0-826, 0-751, 0-683 TR
T IE | | 0-621]

PN S Gl S Sz wee
IGRIESERE

R BRI
(SR W% 94 Htafe)
(Rs.)

1 2,00,000
2,20,000 1
2,50,000 I R
2,60,000
3,00,000
3 99 719 T2[ 30 *©igH S ARG
OIS I AEERT @ 9T FE—
(i) RIS S € T Bieg T eqm

Sfered ; |

(@) 10 *foK* Tl TTE RARPGR dge
TS T Al A ;

@R I @S kS
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